
















































Aarush Bhatt
This derivation is incomplete.





































































Aarush Bhatt
This is incorrect. Since the plates are connected, charge on individual plate is NOT conserved.
Instead, this should have been assumed another variable y.

Now, using x and y, write charge distribution. We need 2 equations to uniquely determine x and y.

1) V2 = V4
2) q2 + q4 = -q + 3q = 2q

























Aarush Bhatt
This proof is incomplete.
















































































































